3xt — x2 - 25 A4E3| stoizet.

O (3x2-2)(x+1)(x-1) @ (3x2+2)(x-1)(x-1)
® (3x2+2)(x+1)(x+1) @ (3x2+3) (x+1)(x-1)
@(3x2+2) (x+1)(x-1)
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3A2
(3A+2)(A 1)
(3x2+2) (x+1) (x-1)




g(k—i- Dk+2)+ (k+1)(k+2) & E2 AL

@ é(k+1)(k+3)(k+4) ® %k(k+1)(k+2)
@%(H D)k +2)(k +3) @ %k(k+1)(k+2)(k+3)
® i(k+ 1)(2k + 1) (3k + 2)

B

(k+1)(k+2) = Sk + D(k+2) 0122

S eles (k+ Dk+2) 2 FoH

w |
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W =

(k4 1)(k+2)(k+3)




(x4 —8x2 - 9) + (x2 - )% A Atotof gt

@x2+1 @ x*-1 @ 2+2
@ x%2-2 ® x*+3

x* - 8x2 —9—( 9)(x2—|—1)
— 2t




Al 7Rl tFd A w3 +ax+b, X +cex? +a, ex® +bx+4, 9 F

Sh7b x - 19 ®, a+ b+ ¢ 9] 27

fx)=x*+ax+b—> f1)=1+a+b=0--Q
gx)=x3+cx*+a— gl)=1+c+a=0--©
h(x) =cx®*+bx+4—> h(l)=c+b+4=0--©
QD+O+ONH 2(a+b+c)+6=0
La+b+c=-3




5. 2x2 42924+ 5xy—x+y—-19 A2l AL2?

©2x+y+l @ 2x+y-1 ® 2x-y-1

@ x+2y+1 ® x-2y-1

2x% +2y? +5xy—x+y-1
=2x2+ (5y-Dx+ @+ 1)(2y-1)
=(x+2y-1)2x+y—+1)




olakge] A%k 191 ol 2 thaale] HhFosTt x 4 3012,
Ao BT P + 402 +x— 6% T T o241 FalR?
P+x-3 X +x-6

® 0]
2 +5x+1 X2 4+4x+3
2+x-2 X +2x-3
® ®
2-x+3 "1 x> +5x+6
x> +4x+3
®
2-x-6

B4l +x-6=(x-1)(x+2)(x+3)
= o]a}AlL (x D(x+3), (x+2)(x+3)°llA
2> +2x-3, x2+5x+6




7.

a? = b + ¢ —d® + 2(ac + bd) & HFEA J25) o A0

® (a+b-c-d)(a-b+c+d)

@ (a+b+c+d)(a—b+c—d)

@)a+b+c-dfa-b+cta)

@ (a-b+c-d)a-b+c+d)
)

® (a+b+c+d)(a-b-c+d)

~&B

a® - b? + c? —d? + 2(ac + bd)

= (a® + 2ac + ¢*) — (b* - 2bd + d?)
=(a+c)?=(b-d)?
=(a+b+c-d)(a-b+c+d)




B7] F ab(b - a) + ac(c — a) + bc(2a — b - ¢) °]

2l

A
T

Ql

A

@ a-> © b+c © a-c
®6 @ © ® 9,©
@ ©,© ®a, 0.6

filo

B

ab(b - a) + ac(c —a) + bc(2a—b - c)

= ab? — a®b + ac® - a*c + 2abc — b*c — bc?
= —(b+c)a® + (b + 2bc + c?)a — be(b + ¢)
=—(b+c){a® - (b+c)a+ bc}
=—(b+c)(a=b)(a=c)
=(a=b)(b+c)(c-a)




